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56.

S7.

58.

59.

Which of the following is NOT a cultural method of controlling crop diseases?
(a) Burning infected crops (b) Practising crop rotation (c) Regular weeding (d) Use of
insecticides

Answer: D — Use of insecticides

The cultivation of fruits, vegetables and ornamental plants is termed (a) horticulture

(b) monoculture (c) olericulture (d) silviculture

Answer: A — Horticulture

HINT: Monoculture = planting of the same crop on the piece of land every year
Olericulture = production of vegetables. It is a branch of horticulture.
Silviculture = the study of forest trees and other trees.

An adult male goat is called (a) buck (b) doe  (c) steer (d) bull

Answer: A — Buck

HINT: Doe = a female rabbit/goat. A female goat can also be called a nanny.
Steer = a male cattle castrated before reaching puberty. It can also be called
a Bullock
Bull = an adult male cattle.

Which of the following crops has leaves with net venation? (a) Barley (b) Cowpea (c)
Millet  (d) Wheat

Answer: B — Cowpea

HINT: Check question 29.

Use the information below to answer questions 60 and 61.

60.

61.

62.

Assuming a “youth corper” engages in a small scale animal production for economic
empowerment:

Which of the following agricultural marketing activities will NOT be carried out in his
farm? (a) Grading (b) Merchandizing (c) Packaging (d) Warehousing

Answer: B — Merchandising (exportation of products)

CHECK JSS 3 NOTE ON AGRICULTURAL MARKETING ACTIVITIES

Which of the following products will NOT be advertised in his farm? (a) Egg (b) Juice (c)
Meat (d) Honey
Answer: B — Juice (it is a crop product)

The following are the benefits of farm animals to man EXCEPT (a) clothing (b) food
(c) manure  (d) shelter
Answer: D — Shelter



63.

64.

65.

66.

67.

68.

69.

70.

In siting a school farm, the following are important EXCEPT (a) accessibility (b) colour
of the soil (c) land availability (d) nearness to source of water
Answer: B — Colour of the soil

Oghene Agro Chemicals Company supplied 100 cartons of herbicides and 2 bags of
fertilizers to Ahmed Farms. Which of the following documents is likely to be sent along
with the supply? (a) Sales invoice (b) Purchase Income (c) Purchase Journal (d) Sales
Journal

Answer: A — Sales Invoice

The major reason for the conversion of a piece of land into a forest is (a) low population
pressure (b) prevent microbial activities (c) prevent natural hazards (d) provide timber
Answer: A — Low population pressure

When crops produced from Nigeria are exported to other countries, they attract (a) credit
facilities (b) foreign currencies (c) foreign loans (d) import duties
Answer: B — Foreign currencies

Stock Exchange in agriculture is important to agriculture because it (a) assists in farm
planning (b) encourages savings and investments (c) facilitates infrastructural
development (d) prevents food shortage

Answer: B — Encourages savings and investments

If the demand for yam is low and its price begins to fall, the producers will (a) hoard the
yam (b) produce yam substitutes (c) stop supplying yam (d) supply more yam

Answer: C - stop supplying yam (this is the first thing the producers will do, before
thinking of anything else)

Which of the following factors causes low price of agricultural products in the market?
(a) Crop failure (b) Low capital (c) Low supply (d) Natural disaster
Answer: A — Crop failure

The weed control method that may have pollution effect on drinking water is (a) chemical
(b) biological (c) physical (d) cultural
Answer: A — Chemical control



